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DIPLOMA IN ELEMENTARY EDUCATION 
(D.E1.Ed.) 

Term-End Examination 

December, 2013 

BES-009 : TEACHING OF MATHEMATICS FOR 
THE PRIMARY SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
What do you understand by thinking 
mathematically ? Explain with examples. 

OR 
Explain the difference between mechanically 
applying algorithms related to multiplication and 
division of decimals and conceptually 
understanding them. 

2. Answer the following question in about 
600 words : 
Identify the main features of calculations 
involving time as compared to calculations 
involving money. 

OR 
Write about the challenges involved in 
communicating the process of addition of four 
digit numbers as compared to two digit numbers. 
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3. 	L\nsvtir er any four of he toll ving que,,tiom iri  

150 words each : 
(a) Clarify why the ability to recite number 

names is no indicator of the child's ability 
to count. 

(b) Elucidate the difference between area and 
volume giving suitable examples. 

(c) How will you make the concept of 'Past, 
Present, Future' clear to the children you 
interact with ? 

(d) Write about the importance of teaching 
estimation and approximation clearly 
indicating the difference between them. 

(e) Suggest an activity for children of class IV 
which strengthens their concept of the 
operation of substraction of numbers. 

(f) Explain through an example choosing any 
topic of mathematic how will you scaffold 
learning of that topic among children of 
primary school. 

	

4. 	Answer the following question in about 
600 words : 
Illustrate through examples why planning is 
necessary for teaching of any topic in 
mathematics. In the light of above differentiate 
between lesson planning and unit planning. 
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